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Stata ver.14

VAR AR

Autoregressive:

LR BN ARSI IRIEZEM =

(State-space model)

1975-2012 1973 2012
1975-1992 1990 2020
1993-2012
De
Jong
De Jong
27% 1973 1992
1993 2012 1973 2012 3
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(State-space model)

3
(Three-stage least-squares

regression)

(Markov-switching

dynamic regression)

Factorl:
Factor 2:
Likelihood=-434.33 R?=.92 Likelihood=-419.66
Factor 1 Coef.=-.21 Coef.1=-.21 AlIC=22.46
95%Cl=-.44 .01 95%Cl=-.44 .01 Coef.1=-.24
1975-2012 (95% ) (95% ) 0¢
Factor 2 Coef.=-2.92 Coef.2=-2.92 (95%CI1=-.37 -.11)
(95%CI1=-3.47 -2.38) (95%CI1=-3.47 -2.38) Coef.2=-3.21
(95%CI=-3.56 -2.85)
Likelihood=-197.44 R?=.03 Likelihood=-192.45
Coef.1=-1.38 Coef.1=-1.38 AIC=22.16
0, - - 0, - - =
1975-1992 (95%CI-1.83 -.93) (95%Cl-1.83 -.93) Coef.1=-.87
Coef.2=2.25 Coef.2=2.25 (95%CI-1.26 -.48)
(95%CI=.20 4.30) (95%CI1=.20 4.30) Coef.2=.51
(95%Cl=-1.15 2.17)
Likelihood=-206.34 R?=.89 Likelihood=-198.49
Coef.1=.87 Coef.1=.87 AIC=20.55
0 = 0, = =
1993-2012 (95%CI=.70 1.05) (95%CI1=.70 1.05) Coef.1=.87
Coef.2=-.87 Coef.2=-.87 (95%CI=.79 .95)
(95%Cl=-1.32 -.43) (95%CI=-1.32 -.43) Coef.2=-1.14
(95%Cl=-1.34 -.93)
Likelifood
Coef
RZ
AlIC
|
|
m3
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GIGO Garbage In, Garbage Out
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BE57 L VARET A : AR (Autoregressive: H CL[HIE) €TV ZARE T AR S AR
WKHR L 729 D, 19734EH H20124F 5 TO T — X Z HIT19904E 5> H20204E £ T % T
H, X% :2050FFTCOETADIFR

WIS Python Ver.3.6.3, Python 7 4 77 Y statsmodels % i Ff]

VAR AR Autoregressive: 2020
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400000 1

300000 A

200000 -

100000 A
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-100000 H
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4 VAR AR Autoregressive: 2050
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2
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400
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